Litchfreld loveseat

The Stanley gazebo:
a beautiful retreat.
wild 1t yourself,
B this place to get
: away fromit all
Or for the kids to play in
some ram?f day Qrthe
spot you'll enjoy for
famuly cookouts and
entertaining —day or
evening And whata
nice architectural accent
for your yard! ’
= Constructing this
gazebo gives you a
chance to show off your
skills at rough framing
and fimsh carpentry A
touch of cabimetwork,
roofing and paintimg are
also called for
Sure, the gazebo’s a
sizeable undertaking
Besides real woodwork-
ing savvy, it calls for
some extra help to
assemble 1t But the
mstructions, enclosed
here,; do show you how
to build 1t step by step
Then all you need are
tools and hardware
from Stanley, The Do-It-
Yourself Company

AAAR N N

OO
TSN

PSS

Lutchfield planter box

The Litchfield and the
Galway lawn furniture.
=y elax. This spe-
4 cially designed
=W gutdoor furniture
15 easy to build yourself
Easy to look at Easy to
enjoy for years
ou'll find Stanley glans
and drawings, tucke
mside, with “how-to’s”
for the Litchfield furrni-
ture, which 1s quite easy
to builld And for the
Galway furniture, which
takes somewhat more
skill to construct
One special feature of
the Litchfield chair and
loveseat, you'll notice, 1s
that the backrests are
removable This makes
them easier to store
smce they take less
space en the back-
rests are in place, of
course, they offer sohd
“we're-not-going-
anywhere” comfort
All the wood you'll
need to build these proj-
. ects1s listed in these
¢t plans, as are the Stanley
tools and Stanley hard-
ware Go toit Have fun!

6-sided, 8-foot dinmeter,
70 square foot Gazebo

— R

N

e —




Litchfield
Furniture

:

Materials
Part Size* MNo Required

A leg 2x3 253" i
B front-back seat frame 2x3 217 2
C front bottom stretcher 2x3 21r° 1
[ side seat frame 2x3 260" 2
E chamfer brace 1x3 3 2
F  backrest support 1x3 28" 1
G backrest slat 1x3 3¢ 7
H backrest brace 1x3 205" 3
I seatbottom slat 1x3 21" 8
]  arm rest 1x4 34" 2

*Mote These are nominal measurements A 2 x 3as actually 1V x 2,
alx 3isactually ¥ x 2%, and a 1x 415 actually 3 x 312

Tools

Mallet

Chasel

Try square

Crosscut saw

Cordless dnill or it & brace

Power bore bits

Screw Mate® for #8 screws

Cordless or regular
screwdrver

Block plane

Framing square

Surform® tool or wood file

Claw hammer

Coping saw

Tape measure

Mitre box

Hardware

115" #H ralvarized SCrews

3" #8 galvanized screws

145" #8 galvamzed screws
{bugle head or sheet rock)

Sandpaper #80 and #100
gnt

Paint or stain

Directions

Chair Frame
The best tool to use for all
cuts1s a mutre box for square
cuts

Cut four (4) legs from
2x 3-25%" long,

Cut two (2) braces 30"
long from 1 x 3 and chamfer
both ends Use block plane
or Surform tool. (See
detail #1)

Attach two legs to each
brace with two (2) #8 114
galvaruzed screws on each
end You wall have two
three-sided leg sections
(See Drawing #1 )

Always put screws into
wood at diagonal angles to
avoid sphtting Counter sink
all screws so heads are flush
with wood surface

Check for squareness

Cut two (2) arm rests 34"
long from1x4

ut backrest support 28"
long from1x3

Attach backrest support to
arm rests from under side
Turn the arm rest preces
upside down -use two (2)
#B14" galvanuzed screws
on each side (See Drawing
#1)

Attach leg units to arm
urut with #8 12" screws,
three (3) on each side, one Iin
each leg and one in the cen-
ter of each brace, from the
top Legs fit flush to mside
of arm urut. Note. distance
between legs 1s 21"

Cut two (2) 21" and two
(2) 264" preces from 2 x 3
stock for seating frame

The box frame for the seat
15 put together with two 3"
#8 galvanuzed screws per
corner

Seating frame 1s attached
to chair urat at an angle The
front top of seat 15 151" from
g‘cund and back top of seat

me 15 8" from ground

Attach with 3" #8 galvan-
1zed screws, one in each leg

Attach front bottom
stretcher 414" up from

ground with 3" #8 galvan-
1zed screws, two per side
Char Back
Cut seven (7) preces of 1x 3
wood 36" long for backrest
slats
Pick out best face of each
slat and chamfer lon % edges
shghtly to prevent splintering,
ine up the seven back.rest
slats—chamfered fronts

fa down on table on
w;f;c%ench.

Cut three (3) F:eoes of
1x 3 205%" long for backrest
braces

Fit outside edges of each
of the two end backrest slats
flush wath end edges of back-
rest braces Measure and
place the rmuddle slat accord-
ng to position diagrams of
backrest braces and mark.
Space the rest about V2"
apart

Attach bottom backrest
brace 1" from bottom of back-
rest slats Put one #8 144"
screw imnto each slat so
can adjust for straightness as
you attach the rest of the slats

Dl pilot holes in all
three backrest braces - two,
on a dhagonal, per slat. (See
Drawing #2 )

Measure up 15" from bot-
tom of bottom backrest
brace - place top of nuddle
backrest brace at that mark
Again put only one screw
nto each slat

Measure up 17" from
bottom of muddle backrest
brace to the top of top back-
rest brace Agamn attach with
only one screw i each slat

heck for squareness
with framung square-put in
rest of screws

Make "“compass” with
stnng and penail or nail and
mark for back curve Be sure
arc clears backrest brace.

Do the rough cut wath
acoping saw Clean up
edges with a Surform tool
or wood file



Seat Slats Place the backrest into
Cut eight (8) seat bottom position to locate line for last
slats 21" long from 1x 3 slat to be attached Mark
stock. and attach last slat (See
Pick out the best face for Drawing #1 )
each piece and chamfer each Round off front of arm 1/3+(APPROX )
long side shightly. rests with coping saw Firush T
Attach the first slat flush with sandpaper and paint
with the front of the seat N
frame with one (1) screw on
each end

Space the slats about 4"
apart and repeat process on
next six slats DRAWING 2
BACK REST

~
1x3x207/g"

DETAIL 1
CHAMEFER

©
S 2,
A o T _

28" o @ ’-‘ g 1)%921"

H--H--H--H--H--H-- DRAWING1

AT C o WA -
S A=

2x3x21"

— 2% ‘ I | —— v 1
. H--H--H--H:-:-H:-:A::-H::R , 1.
! _1 i J_l ‘l_‘_ I © ]5/4
@ & d 2x3x21"
. 8" ~ 2x3x26 1/4-~
1

t/
U l LI B LR LR LN 2x3x25 3/4"

\

. T L L /0
-1 15% - S ————— /
—— A
| i Z \//21

| g4

2% L 25" ] 2% 11/2"-1 L 21" J L 1%

30"

SIDE ELEVATION FRONT ELEVATION




' Litchﬁeld Loveseat

Dimension Differences

Materials

Part Size* No Required

€

A front-back seat 2x3 45 2 :

frg;e back sea x ] / X330 (SI ACING @ 1y (APPROX
B frontbottom stretcher  2x3 45" 1 ]
C center seat support 2x3 26Ys" 1 ™
D backrest seat slat 1x3 36" 14 B N
E middle-backrest seat 1x3 30 1 1 O O | O

slat
F backrest brace 1x3 441" 3
G backrest support 1x3 52 1

m— - U Yo HALHH--H--H--H--H--H--H=m
H seat bottom slat 1x3 45" 8 "H ‘F' ""'F"'““ f‘ 1 ""f“"'
-H--H--H--H--H--H--H--H--H--H--
*Note These are nominal measurements A 2x 31s actually 1'% x 214, 1 W 1 .1 T
alx31sactually ¥ x 212, and a 1 x 415 actually % x 312
**Try to use pieces free of knots
221/2” i
FRONT ELEVATION
41 L Y%
ADD * o
@ € Means Center Line
1-1x3x30"

®

1x3x44 /g ——

©

Ix3x52" ——

1x3x44 1/

1x3x44 /pn

®

1x3x45"

1x3x261/4»




